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Multiplication by 2-digit number:

Example: 7158 x 36=_

TTh Th H T (o]

7 1 5 8

X 3 6

4 2 9 4 8

2 1 4 7 4 0

2 5 7 6 8 8

Example: 6028 x 48 =

TTh Th H T (o)

6 0 2 8

X | 4 8

4 8 2 2 4

2 4 1 1 2 0

2 8 9 3 4 4
a. 3582 x 28 =
b. 4091 x 74 =
c. 7106 x 19 =
d. 5526 x 65 =

Start on a new page:
Word problems

Example: Each bag has 12745 frocks. There are 40 such bags. How many frocks
are there in all?



Answer:
Number of frocks in 1 bag = 1275
Number of bags = 40

Total number of frocks =

Th H T )
1 3 2
1 2 7 5
X 4 0
5 1 0 0 0

Total number of frocks = 51,000

2. If a factory produces 3759 toys in a day. How many toys will be produced in 85
days?

Answer:

3. Inan orchard there are 945 mango trees in a row. How many mango trees will
be there in 27 such rows?

Answer:

4. There are 4005 watermelons in a truck. There are 25 such trucks. How many
watermelons are there in all?

Answer:






